[
I50 5001
"ﬂnl

[ornrmnmocnr |

n® 2014/62357 1

WIRELESS SCGLUTIONS

ANTENNA GROUNDING KIT
T-KITRWO001

TECHNICAL DATA

Material adapter : Nickel-plated brass
Weight : About 0.2 Kg
Material screws M4 Stainless steel
Material screw M16 Stainless steel
Dimension 47.5x32x32
RoHS 2011/65/EU Compliant
IP rating No
SCREW M16

SCREW M4 (4)

- KIT COMPATIBLE WITH A-RW001 & A-RW002
- KIT IS NEEDED FOR INSTALLATIONS ON NON-METALLIC SUPPORT

Atel-Antennas S.r.l.
Viale Caduti sul Lavoro, 21/A - 15061 Arquata Scrivia (AL) - Italy
Tel. +39 0143 635496 - Fax +39 0143 666423 - Website: www.atel-antennas.eu - Mail: commerciale@atel-antennas.eu - P. IVA 02442250060


tecnico@atel-antennas.eu
Testo digitato
T-KITRW001

tecnico@atel-antennas.eu
Testo digitato
- KIT COMPATIBLE WITH A-RW001 & A-RW002
- KIT IS NEEDED FOR INSTALLATIONS ON NON-METALLIC SUPPORT


tecnico@atel-antennas.eu
Linea

tecnico@atel-antennas.eu
Linea

tecnico@atel-antennas.eu
Testo digitato
SCREW M16

tecnico@atel-antennas.eu
Testo digitato
SCREW M4 (4)


WIRELESS SOLUTIONS

D 0.1 The area of the roof where the antenna is mounted has
to be planar and stable.

N7 @ Mounting surface

AT

Min.

Atel-Antennas S.r.l.
Viale Caduti sul Lavoro, 21/A - 15061 Arquata Scrivia (AL) - Italy
Tel. +39 0143 635496 - Fax +39 0143 666423 - Website: www.atel-antennas.eu - Mail: commerciale(@atel-antennas.ecu - P. IVA 02442250060


tecnico@atel-antennas.eu
Testo digitato
The area of the roof where the antenna is mounted has 
to be planar and stable.


